


] EAB SERIES: Heatsink Aluminum Enclosure
EAB SERIES

Assembly Guide

User should prepare all component assemblies and complete any modifications
(drilling/punching holes) before assembly.

1. Install @ front/rear panel to @ side frame and secure with 2. Install @ GP Bar kit [option] into the slide rail slot in side frame
@ screw M5x10 phillips 4pcs. and secure with GP bar position by screw M3x6 phillips.

We advice to install user components at this stage. Our GP Bar Kits

Descri ption Q’ty are ideal for this purpose, but user ca prepare their own method
1. Side Frame 2]
2. Top/Bottom Cover 2]
3. Front/Rear Panel 2]
4. Screw M5x10 Phillips [8]
5. Rubber Feet [4]

General Purpose Bar kit [GP Bar] option

3. Slide the @ top/bottom covers into the side frame slots. 4. Install @ front/rear cover and secure with @ screw M5x10
GP Bar Profile phillips 4pcs.

GP Bar Large side : GP Bar L
for EAB3.0, EAB4.0,EAB5.0 g B

and EABG6.0

e GP Bar Small side : GP Bar S
NN for EAB1.0 and EAB2.0

GP Bar kit (L or S) consist of Q’ty
1. GP Bar (L or S) [2]
2. GP bracket [4]
3. Screw M3x6 phillips [4] K| D
4. Nut OB M3 [1 2] 5. Place the @ rubber feet 4pcs. at the bottom side of EAB box. 6. Completed Assembly.
Note: GP Bar length relates to the width [*A” dimension] *** clean surface before placing rubber foot.
when you order pls tell us GP Bar profile and the width such as “GP-S Bar 100W or GP-L Bar 200W” Isopropy! Alcohol 70% is recommended ***

International Inquiries : Email: Commce@chevalgrp.com Tel: +66 2315 1504-5 Fax: +66 2315 1506

www.chevalgrp.com Thailand Inquiries : Email: domestic_sales@chevalgrp.com Tel: +66 2744 1632 Fax: +66 2399 1783 CAG.18.00.008  P.2/2

E . Cheval strives to provide the latest information in all our product literature. Due to our continuous product development program, product appearance, specifications and dimensions may change without notice. To ensure you have the latest information, please contact Cheval or your local representative.




